S TUWUDY

EXECUTIVE OFFICER, GRADE- III (GROUP- VII- B SERVICES) (TAMIL NADU
HINDU RELIGIOUS AND CHARITABLE ENDOWMENTS SUBORDINATE SERVICE)

1. The Fort Panchalam Kurichi was attacked by

a. Jackson b. Major Banerman c. General Malartic

d. General Boscawan e. Answer not known

utehameuld GMIFS CaTienLulen g SHTHGHH60 CHTHHSH6UT SLEUIT.
a. TSHFe b. Guwsgt GuesiTOTesT c. Gmeyed eVTTIgEH

d. Gmeme uTewETOeE €. el O Muweaisdensy

2. Arrange it in chronological order

1. Under the leadership of EV Ramasamy, Justice party was reorganized as
‘Dravidar Kazhagam’

2. EV Ramasamy elected as president of Justice party when he was in jail.

3. EV Ramasamy organized Dravida Nadu conference demanding separate and
independent “Dravida Nadu’

4. The Congress won the Madras Legislative Assembly election.

a.1324 b.3412 c.4231

d.2134 e. Answer Not known

&M60 auflenall L UL 1pulell(h:

Lr.Gougmogm]l semeveniouled bHd s dl “SHrmall SpsD” 66 LIHBH HIEMDSSILL L F).
2.7.Gaugmogmdl Fenpuiled SmbHd CETenih BHHEH F Heweoausrsd BHTHOHBSHSILIL L.
3..Gaurgmogmd gyrel BTG WWIHETG BLHH P60 &SHAHT LBBL Hall Hgmall BTG
Camildama (Lpeil MeUSHSH60.

4. QL gmed FLLgmU ChTdHemev SThSTerd S g Cleueimal.

a.1324 b.3412 c.4231

d.2134 e. alenL  GaMuwailsvemev

3. River Sanctuary in Tamil Nadu is
a. Kalakad Mundanthurai Tiger Reserve b. Sathyamangalam Tiger Reserve
c. Mudumalai Elephant Reserve d. Vellode Bird Sanctuary
e. Answer not known
SLODBTL 196D “OLmIH6iT6 FFewimeould” 6T6iIml SIMPSBLILBH MBS
a. HVHBTH (LT [HAHINB L|eH6IT FFemITeolLD
b. 58w BIBED LEISH6T FJewITeOUILD
C. (IPGIDENEV  WITENEIIEHGIT  FJ60TTeVUILD

d. Qeuei@enm(® LBeN6UBET FTERITEVLILD
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e. allewL G flwalsvenso

4. The main cause for Landslides in Nilgiris District is

a. Drought conditions b. Heavy rain c. Inflow of tourists

d. Smart city project e. Answer not known

peudIfl Tau HHe0 MevFafley gBULS SHTIeRIOTS EHLUILIG LS LD.
a. eupl Fwiment [Hlemev b. &18s wemip C. &BmIeVTAIGIT 6U(HEND

d. fpiy pagb S e. allenL  Gafweailsvensv

5. If the interest is compounded half yearly find the compound interest for Rs. 5,000 at
20 % p.a. for 1 %2 years.
a. Rs. 6,655 b. Rs. 1,655 c. Rs.2,655
d. Rs. 1,665 e. Answer not known
LB auly STWNH.: 1% pWiBsErHE oiF 5.5,000, 20 %oy el eisd
SITWTERI(HHE @(H (LPMB SIS LILIL (HeT6ng).
a. Rs. 6,655 b. Rs. 1,655 c. Rs.2,655
d. Rs. 1,665 e. alewL  Gafuweailsvemev

6. A sum at simple interest of 13%2% per annum amounts to Rs. 3,080 in 4 yr. Find the

Principal
a. Rs.2,000 b. Rs. 1,850 c. Rs.1,650
d. Rs. 1,550 e. Answer not known

aemibeEE 13%% e6isb sl alsd 4 aiBdellsd SHoLEGD OTsHd CFHTmns
@5.3,080 eTaflled DIFeN6LDH HTEOIS.
a. Rs.2,000 b. Rs. 1,850 c. Rs.1,650

d. Rs. 1,550 e. alenL  Gafuwailevemev

7. What is the botanical name of Lemon grass?

a. Cynodon dactylon b. Setaria italica c. Arundo donax
d. Cympopogon citratus e. Answer not known

aeullFemg Ljevedlent SHTeugaiuled GLIWIT 6Teireor?

a. FWGITLTET L TEemL 606 b. &' GLAwr @ Lreldbast

C. OImHewiGLm GLmenmeberd d. FGunBurasmer F Gyl Lerd

e. allewL G flwalsvenso

8. Bordeaux mixture contains

a. CuSOj +lime b. ZnSO4 +lime c. HgCl, +lime

d. KoCOs+lime e. Answer not known

Gummguimderd 6066l  6TEITLIGI QLG

a. CuSOyg +gewrenmibL| b. ZnSO4 +  sewtewimibL] c. HgClx + semremimibL]

d. KoCOs+  geuitemimibLy e. alenL  GaMuwialevemev
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9. Which one of the following is not a precautionary measure that we should take

before Tsunami?

a. Find a safe route to nearest shelter

b. Considering alternative buildings

c. Having an emergency kit

d. Those residing in ground floor should remain there

e. Answer not known

&6 OBTHHSLILL (BHelTeneuBmlel o1& Fimd ameaudBGSG (Wet BT Gumsmeren Geuemrigul
(&1 61FFMNHMB BLOUYDHMD E6V6N6V?

a. SHAIGTEN LTSHISTILTRT SHRIGILHIHBEG eublenul &HeurLnslgHe0
b. wiBBIE SLYLSHmFH BHHSHHeO OBMeiTeTe0

C. O] (PHHATI QUL M6eudHH([HSHEH60

d. sy sendHed aufliveuTser MGG E(HHHe0

e. allewL  Gafwalsvenso

10. Gilgit tunnel is formed by the action of which of the following rivers?

a. Ganges b. Indus c. Brahmaputra

d. Narmada e. Answer not known

HeLFIL mevd GHML | Llseu(hD HaHHeled eleuBmlen GCFUICOHEMTEO 2 (HeUTSHBLILIL L ).
a. SHIMD b. Spal c. LyiboLgagm

d. miosm e. alenL Gafuweailsdensy

11. Which Article of Indian constitution says that, “The Supreme Court is bound to give
advice to the President of India”?
a. Art.143 b. Art 144 c. Art 145
d. Art.146 e. Answer not known
“o FFHIIOGIBD BHHUW GQUITHS HMeV[HESG DCUTFMT UPHIS HLeMLOLILIL (HeTeng)”
@phaHw spFwevemwliie 6bhd aHdH BFHmed GBIULIGHBSHI.?
a. agrsHa 143 b. agrsHa 144 C. a9ysHa 145
d. a9rHs1.146 e. alenL  GaMuweailsvemev

12. The Union List consists of

a. 97 Subjects b.61 Subjects c. 66 Subjects
d. 70 Subjects e. Answer not known
LHHWL LLIQuIed o 6Nl SHaWGI.
a. 97 ®emicbei b.61 Benmismei C. 66 BeImIGH6IT
d. 70 @eimsiselt e. alenL  GaMuwailsvemev
13. The Act of introduced separate electorates for Muslims.
a. 1919 b. 1935 c. 1947 d. 1909 e. Answer not known
eWIB  FLLLD  Seveomllupbosear el LFHBdHoaeusHmsd  slpasbd
(OE LY
a. 1919 b. 1935 c. 1947 d. 1909 e. alenL G fwealsvemsv
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14. Wherefrom the Indian National Army started its March towards Delhi in September

19437
a. at the victory tower of Nepal b. at the tomb of Bahadur Shah II
c. at the ceremonial parade ground c. at the seashore of Indian ocean

e. Answer not known

QLT 1943 0 @hHw BxFw GSumamieud RS HHH HOIH GLeved SiewileudLienL
SIS WLIG]?

a. Gpuumefled o sitern Qeumyl GsmyTsHSHe0

b. ®yewiLmd usgnTagTale &He0evmBuUle Oi(HE60

c. QuramiusHear alBFag LUIBE ST 60 (HHS

d. @b GuEHEIBLeIET HTUNe (b

e. alowL  GgMwalsvensv

15. Pick out correct statement
i. Kural stresses the importance of knowledge and education
ii. Kural stresses the importance of religion
iii. Kural stresses the significance of art and dance
iv. Kural stresses the importance of truth and modesty
a. Bothi and ii b. Both ii and iii c. Bothiand iv
d. Both iii and iv e. Answer not known
gilwmeremg BxiTey OFuis:
1. Hmpéd@sel opfleneauud SevallenuiLbd aleILBISHHISBS.
ii. @6 HHHET (PEHBUISHHINGHMSB 2 _lTHHIB B!
iil. GM6T H6emeL LOBMILD BLAIHHE (PHBHUSHBHINUHMS UIW|BISHHIB B!
V. @B6T UTWIMMWIULILD DI SSHMSWD 6leILBISHHISBS.
a.1 Bmd il gEluler b.ii wBmid iii eyFuwien C.1 mBmIb iV spdluie
d.iii wppd iv epdwenr  e. allen Gpfweaievenso

16. 13.89 Lakh SHGs were covered with aggregate bank loans of Rs. Crore in
Tamil Nadu, as on 31st March 2013.
a. Rs. 26,645 Crore b. Rs. 38,748 Crore c. Rs. 18,245 Crore
d. Rs.17,648 Crore e. Answer not known
3lomtd 2013 60 HODETLIGe0 o 6ifern 13,89 60l gD &W 2 Hal GDSHEHDHE UPRISLILL L
Qs sL6T OFHTNS (M. Gamouim@Lb.
a. em. 26,645 Gy b. em. 38,748 Gazmg C. . 18,245 Gzmg
d. 5.17,648 Gsmig e. alenL  GaMuwailsvemev

17. In 2011 - 2014, the total length of railway lines in Tamil Nadu was Km.
a. 2,671,43 Kms. b. 3,761,62 Kms c. 4,861,34 Kms
d. 8,963,44 Kms e. Answer not known
2011-2014 &0l60 SLODBTL 196 E(HUIL UTSHUIET 66 BB LITE DHHSHHI-
a. 2,671,43 &.16. b. 3,761,62 &.18. c. 4,861,34 &.18.
d. 8,963,44 &.15. e. alenL  GaMuwiailevemev
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18. 6:x::y:15 of the following answers which cannot be the value of x and y respectively.
a. 9,10 b. 3,30 c. 2,45
d. 10,10 e. Answer not known

0:x::y:15 Sp sramid almLseafled 6hd alenl X &G Y SSW WapGuw CQUTHHSTHI?
a. 9,10 b. 3,30 c.2,45
d.10,10 e. alewL  Gxfuweaisvemnsv

19. Selvan saves Rs. 5,000 every 3 months. How many years will it take for him to save
Rs. 1,50,000?
a. 90 years b.7 Y2 years c. 9 years

d. 30 years e. Answer not known
Ogeveuet ¢5.5,000 cpIBl WTHSHHBES @ (Wemp CaibammT sefled h1,50,000 & Cxudbs
THSHM  GU(HLHIGENTGLD.?

a. 90 au(pLmisert b. 7 Y2 au(pLmibeir C. 9 aupLmIB6T
d. 30 eu(pL mime6iT e. alewL  Ogfwealsbensv
20. stated that the properties of elements are a periodic function of atomic
numbers.
a. Rang b. Werner c. Mendeleef
d. Mosley e. Answer not known

SHomIGeNel LewILS6T LoBBID OCFWeOLTB IS el eTenienemill QUTBISHEH EHEHGLD
oTe0Is  FnlLIGUT.

a. Gymis b. Geuirestit C. Qe_eSL

d. GuwmerbBev e. alewL Gapfwalsdensy

21. The minimum possible temperature beyond which matter cannot be cooled is

a. -100°C b. 0°C c.-273 °C d. -500°C e. Answer not known
QM OQuUTmeT @ GUUUILL Geuliupmendd &b GelTalds meaudsd (PQUITSH. Db
Geuliuplenev

a. -100°C b. 0°C c.-273 °C d. -500°C e. alenL  Gafuwalsvemev

22. Which one of the following statement is not correct?
a. K2 is the highest peak in India
b. Jog waterfall is the highest waterfall in India
c. Cherrapunji is the Wettest Place in India
d. Deccan Plateau is the largest Plateau in India
e. Answer not known
LetTeu(heueTeuBMmIeT, HaUpTen FnBml 6157
a. @bHwnalGeoBuw o wiywrer Hagd K2 gu@ib.
b. @pHwunaled o wigioner BrefpsFdl Gmme BialpFd @D
c. fryehd BpHwnaleoGeBuw FILTET LIGHWTSLD.
d. @pFHwmalGeoBur WaGuflu Lyl séarenr L yblwmgib.
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e. allewL Ggflualsvenso

23. Which is religious leader bound social harmony Jainism and Brahmanism?

a. Appar b. Hemachandra c. Ramanujar

d. Sampandar e. Answer not known

bhd  FLWSHSHMELAT  FMISGHBSGL,  LPToaIWUSHBSL  Fpd  Bendhs s ener
2 _(HeUTSHaeiT?

a. ST b. Gamw&apym C. @moTenIggT

d. Fbubsit e. alenL  GaMuwalevemnev

24. The Prime Minister of India is appointed by

a. The Governor b. The Speaker c. The President

d. The Election commissioner e. Answer not known

@bHwl ysHoeny Hulwerd GguiLeuT

a. SYEHBIT b. FurpTWST C. GRWIHS HM6LGUT
d. GaiimHed eyemewiuiT e. alewL OgMwalsdensv

25. Which of the following countries is the first ever to incorporate the directive
Principles of State Policy as part of their constitution?
a. Ireland b. America c.India

d. Spain e. Answer not known

og  Oppsupens  Camiumigeer  Ueieumd  BTBH6s0  61H  (WHE(PHEIe0  HHIG6I
SiyglwevenioliLiled B&iTdhais OomemiL Hi?

a. SIWITeVTHS b. ©GwissT C.8bFHwr

d. erbGuuTesr e. alenl Gafuwalsvemev

26. Who was the Founder and Editor of the Journals Punjabee, the Bande Mataram and
the English weekly, The people?
a. lala Lajpat Rai b. C.R. Dass c. B.G.Tilak

d. B.C.Pal e. Answer not known

uehaml, eubBsH WIHID 6IB EFHDHEN6NMUD, LDHH6T 6603 YRS UMY  EFHEMPWILD
Bpelwelmd SiHer ugiurdfwugread SmbHeuT wmr?

a. 6UTeLT 6VERLIG JmUl b. d.aur.smerd c. U.88.8levd

d. \.8.umed e. alenL Gz flwaleveney

27. Which company helped Gandhi to do his legal practice in south Africa?
a. Dada Abdulla company b. Tata and Birla Company
c. Malabar Tea Company d. Surath Textile Company

e. Answer not known

sMhFHWwseT Opaemitifissralsd Hargh aPSSHMIEHT OCFHTHL Hloums o galwl
alwmumy mimleueid e1g)?

a. HTHT SIUSHIEVEVT HIBIGUEITLD b. LmiLr wBmid difeor mipieued

C. weoumT Bzuilenev MHimleueTid d. &15 Meed Boeued e. allewL  Gaflualsvenso
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28. Tilak of South India was

a. Vanchinathan b. subrahmaniasiva c. Rajaji

d. V.O.Chidambaranar e. Answer not known
‘BT (HHH VBT 6160 DIMLPSHSBLILIL L 6UIT SLEUTT.

a. eUTEhdIBITSHe0 b. atiyweniw Feur Cc. @ymegres
d. eue_dgbuyerm e. alenL  Gafweaisvensv

29. The name of the Justice Party was previously called
a. South Indian Youth Federation
b. South Indian Liberal Association
c. South Indian Press Reporters Association
d. South Indian Literate Federation
e. Answer not known

(PSS (PFHeVIeL Bl & o3 QuWIfled SIEMPSHBLILILL G

a. OFeielbhHul EeN6mEhT FhibLD

b. Osa@ibAHu B o Menid FrhisLD

C. Capaaibdu usHFHMNbamas BepUTH6T SRS
d. Qzaeibllu Sevdduwl méHawl 6B

e. allewL  Ggfwalsvenso

30. Next term in 1 §ills
2'5'10'17

a. E b. i C. i d. E e. Answer not known
27 26 28 26

135 7 B s

5'5'10'17 " AbdDD MILIL]
10 b. ad C. S d. 11 e. alewL OgMuwalsbensv
27 26 28 26

31. 7x5x3x2+3 is a prime or composite number or integer?

a. composite number b. Prime number c. Whole number
d. Integer e. Answer not known

7x5x3x2+3 el @h L@ 6I6wIenIT? LIST 6T60TeniT? @b (LpLoeuT?
a. U@ ereur b. usT erew C. (p(p 6T

d. wupsser e. aleowL  Oafwalsbensv

32. Out of 50 students in a class, 30 are boys, then the ratio of number of boys to number
of girls
a. 2:3 b.2:5 c.5:3 d.3:2 e. Answer not known
Qb auGlled o efem 50 omewieuTdeiled 30 Guit  LOTEwIGUTHET 6T6dll60  LOTEUOTOUT  LOBMILD
orewialsEndh@ el Cuiwimer al&lsLb.
a. 2:3 b.2:5 c.5:3 d.3:2 e. alenL  GaMuwalsvemev
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33. Given that HCF (X,Y) =4 and LCM (X,Y) = 9696, if X=96, Find Y
a. 101 b. 404 c.9212 d. 24 e. Answer not known
XY aaims & eewiseien 15.60umer. (X,Y) =4 wiypd 18.60ur.w. (X,Y) =9696,
X=96 aiafled, Y &1 0AIHU SHT6NwIHb.
a. 101 b. 404 c.9212 d.24 e. alowL  GaMuwalevemev

34. The force of attraction between two charges at distance ‘d" is ‘F’. What distance apart
should these charges be kept in the same medium, so that the force becomes 16 F?

a. 9 b. 9 C. i d. i e. Answer not known

4 V3 J2
Byewip et L miseier SevLimn’ L @ iouwisd ‘d’ eus Bme@neursl  seisd
aleng ‘Feopp o etengl. sairddl alewg 16 F oy wmm, @LUGUWTEFS erebien?
d b d d d

.= C. — d —
2 1 N3 N7

a e. alenL  Ggfwailsvenev

35. The French Drama, “Happening” (1960) about illegal abortion won the Golden Lion

Award for the Best Film at Film Festival.

a. Paris b. Venice c. Geneva

d. Vienna e. Answer not known

apliueim, (1960) &L «l@irs  smssmeotyl upBlw  WOFehs BTL&WL, FBHS
FHevgluLsHmaTer  ‘Cameorenr  eower &l eyl alpreled
QUIDHIBLILIL L&

a. umferd b. Geusflerd C. Omgefleur

d. elwestenm e. alenL  GaMuwalevemev

36. Kharosthi script derived from the

a. Brahmi b. Semitic c. Roman
d. Aramaic e. Answer not known
SG@ITa%F 61(1RHSI augaId HD BBHHEH 2 (HeUTaS!
a. Uy b. Gl 1956 c. Gymesr
d. gymis e. alewL Gapfualsdensy

37. When did Malayalam Became the separate language?

a. 6th Century b. 11th Century c. 12th Century

d. 9t Century e. Answer not known

eriBuTg WwemeowiTenmd Heoll Gombwimas  ompsluig)?

a. 65ub EIBBIET(H b. 11 gub BIBBTEEI(H c. 128D BIBBTERIH
d. 99ub BIBBTERIG e. aleowL Oz fwalsbensv

38. The time taken for the Constituent Assembly to finalize the Constitution of India
a. 2 Years, 11 months, 18 days b. 2 Years, 9 months, 8 days
c. 2 years, 7 months, 18 days d. 2 years, 5 months, 20 days
e. Answer not known
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ObhFHWw SFFuieoemolienL 2 (HeuThs UmIeaHGH (D TBHBHISCHTEIL  SHT6VLD
a. 2 syemipasei, 11 wrsib, 18 mrer b. 2 eyewiBasel, 9 onsid, 8 Hieit
C. 2 oemiHeel, 7 wnsid, 18 mreit d. 2 syemi®Baseir, 5 wrsid, 20 Hrei
e. alenL G fweailsdenso

39. Who was the Chairman of the Drafting Committee of Indian Constitution?

a. Dr. B.R. Ambedkar b. Rajendra Prasad c. Jawaharlal Nehru

d. None of the above e. Answer not known

bW DFFweoemoli] euemgeyd GHaleT HemeveuT uwimr?

a. LraLit. B.R. ouwGugasmt b. &mCxpar Ursrs C. auamieored Gm(m

d. GumempPwembmienr eaurpicoeney €. allenl GaMuialevemen

40. Who is popularly called as the Prophet from the South?
a. Rajaji b. V.O. Chidambaram c. Periyar E.V.Ramasamy
d. Bharathiar e. Answer not known
‘CaBalelmbal ubd SHTeaHld’ eam FBLUTE DIeDWWSSLILLLUT WiT?
a. @ymegmes) b. eaue_dsbugid c. GQuflwnit F.Qeu.@ymoamid
d. umggwmi e. alewL OgMwaledenso

41. Which act was passed abrogating the right of free speech and criticism?
a. The Criminal Law b. National Act of 1908 c. Indian Press Act of 1910
d. Press Act of 1906 e. Answer not known
Gu&afenowb, &smsSaiflewwenwibd uBItLsBSTHCu BaBGauBmliul L FlLwb 6% ?
a. dfiflered & L1b b.1908 ouip euewi GxHFlw &L ib
c. 1910 oub oL @bFHw usHfdms FULd d.1906 b oLewih usHHfldbme &L
e. allewL G fluwalsvenso

42. Varunan was the God of
a. People of Kurinji b. People of Mullai c. People of Neidal
d. People of Marutham  e. Answer not known
QU(HEMTSH  6T6HIMB  HL G 6MEIT 616U HISSUIGUTHEIT
a. &M ehd Mev oHBH6N b. (psvemev Hlev DBBHE C. OBUISHE Blev DSH®6I
d. wmEsD Bev e e. allenL  Gafweaisvenso

43. Name the first lady arrested in connection with Salt Satyagraha and the President of
the Tamil Nadu Provincial congress Committee.
a. Sarojini b. Rukmani Lakshmipathy c. Ambujammal

d. Parvathi Devi e. Answer not known

SODBTG  THe0  STRIFTeD SO IQUIST  HewevauT WLBBID 2 (] FHHWUTHTHHHHUID
abBSHBH BLHFH meH OFwiu’L (1PpHed Guewmiweni Ouwenys GSBELLIGS.

a. @yrege b. Wl evadiug C. S|IDLIRIIDLOT6IT

d. unfreug) Bzmal e. alewL Gz fuwailsdenso
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44. Given Fi1=1, F»=3 and F,=F;.1+F-> then Fsis
a.3 b.5 c.8 d. 11 e. Answer not known
F1=1, F»=3 wipib F,=F,.1+Fu2aeied F5 syeng
a.3 b.5 c.8 d. 11 e. alewL  Oafwalsbensv

45. Two dice are numbered 1,2,3,4,5,6 and 1,1,2,2,3,3 respectively. They are rolled and
the sum of the numbers on them is noted. Find the probability of getting sum 4.
a. 3 b. 4 C. > d. 5
36 36 36 36
Bremih usLBeied @emled 1,2,3,4,5,6 eeimib wBOmpTm usemuisd 1,1,2,2,3,3 aeipibd
(P HUYB6T GHBISSIUL Beitener. Sened @FewiGld o HULIuGD GCurg Sl dEGL
(P& WHUYSeMET FaBHe0 4 HMLLILSBHTOT HHDSHHMEU SHT6u.

e. Answer not known

a. 3 b. 4 C. > d. 5 e. alew OgMwalsbensv
36 36 36 36
€
46. If the H.C.F. of two numbers is 1 then the numbers are called
a. Co prime numbers b. Prime numbers c. Even integers
d. Odd integers e. Answer not known
Bm erewiseflear 15.0UT.eu. WHOY 1 aTeled Sieleal(h 6TERIHEN6T DIHIDSHESGID (LD
a. gmiTuUST 6lewIH6IT b. usm elewIBel C. BJL6DL  6T60IH6IT
d. oBem eewEei e. el O MNuwalsdemen

47. The ratio of the cost price and the selling price is 4 : 5. The profit percent
a. 10% b.20 % c. 25% d. 30 % e. Answer not known
Qm Oumyefel eauTmSW elenev WHBXBID aIBm alemev 4 : 5 a3 alFHHH6L 2 eilere.
aale0 @eVTLl FHATHD HTEWIH.
a. 10% b.20 % c.25% d. 30 % e. alewL  Gafuwalsvemev

48. The motto of “Satyameva Jayate” “Truth alone Triumphs” was written in

script.
a. Kharosthi b. Brahmi c. Devanagiri
d. Aramaic e. Answer not known
‘FHWGWen  OwiBs’  eem  ‘euTWienBUW  GleUELEVID’  ---r--emmemeee qWSHH  augailed
61(LPBHLILIL (BETEN ).
a. a@ymagd) b. ymd c. Bxpeupmaif
d. 96nds e. alenL  GaMuwaisvemen
49. The Sahitya Academy has recognized Indian Languages.
a. 13 b. 15 c.17 d. 24 e. Answer not known
FTHHW DIHTLLO BbFHw OTHHEN6T DIMISEHT SHHI6TTHI.
a.13 b. 15 c.17 d. 24 e. alenL  GaMuwalsvemev
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ERENNAT

50. The term “aima’mean

a. Prostration to the Emperor b. Kissing the Ground c. Four Salutations

d. Lands donated to the purpose of prayer to God e. Answer not known

‘oIt 6IIB QFTEL 6Tend  (GHN HBeTBGI?

a. GG (LP6ST Lo6wTIQUT (B &H60 b. Hevsded (pHHLOBH60

C. BTG 6UISHSMRIH6I d. sLeeT aufum (GsE& @SISSILGLD Blevld

e. allewL G flwalsvenso
51. Nicolo Conti and Abdur Razzaq visited India during the reign of

a. Cholas b. Pandyas c. Vijayanagar rulers

d. Bahmani Sultans e. Answer not known

@phgHwmaled, HHCHTEOT HTewig WBWID SLHT geords g Fufer Curgy

U(HEnBLIHSH6MT.

a. Ggmpirasel b. umemTguITE6iT C. alQWHHT DITFTH6N

d. umfel FeLHTEIB6I e. alewL  OgMwalebensv

52. Match the List I with List II and select the correct answer using the codes given
below:
According to 2011 census, the literacy levels in the states are

List1 List II
State Literacy level(%)
A. Kerala 1.93.99%
B. Tamil Nadu 2.75.36%
C. Karnataka 3.67.02%
D. Andhra Pradesh 4.80.09%
A B C D
a 1 2 3 4
b 1 4 2 3
C. 1 2 4 3
d 1 3 2 4
e Answer not known

ulwed I wmpd ulyuwed II & QuTmses &6 O@ThHoHsUIUL BHeTen Fhwmear aleml auid
Gxitey OFUIH:

2011 w&al 0HTHH HWISOSHHUISILY LHHT DFHBW0OTE  FHalFHHHH60 2 6lten
LomBlevmisemen  euflena LGS

uliguied I uligwiev 1T
LDTTBl6VLD awdHley aisid(%)
A Gayemm 1) 93.99%
B s01pmn® 2)75.36%
C BT 3) 67.02%
D sypdly 1y8saib 4) 80.09%

A B C D
a. 1 2 3 4
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b 1 4 2 3
C 1 2 4 3
d 1 3 2 4
e. alenL G fweaisdenso

53. Who told this statement that “The Revolt of 1857 was a conflict between civilization
and barbarism”?
a. T.R. Holmes b. Sir James c. Sir Seeley
d. Sir Lawrence e. Answer not known
‘1857 &b spewih LLd mprafeasbdB@n SEpTefesaBen QLG ouer Gorged’ 6rem
BHHHWSH FamlleuT wimr?
a. 19.ou1. Gammiberd b. &i. Gmiberd c. gir.ded
d. &ir. eomyesterd e. alenL  Gafweaisvensv

54.1In 1917, Annie Besant was the President of Indian National congress. She presided

over session.

a. Bombay b. Calcutta c.Surat

d.Lucknow e. Answer not known

1917 60 @bsHw Bxpdw sTEEFMET Hmeveugis iaNCUFMIL  CHTHOHBESLILIL L.
SieuT FLLSHHBES HEN6VMLID HTHI GITIT.

a. uwbumul b. sevsdhaHT C. @IS

d. evdGem e. allewL Oz fuwiaisdenso

55. Pick out correct answer
i. Madras Mahajana Sabha -1884
ii. South Indian People Association -1919

iii. =~ Non- Brahmin manifesto - 1916

iv. Madras Literary Society -1830

a. ii only correct b. iv only correct c.ii and iv are correct
d. ii and iii are correcte. Answer not known

gflwmenr alenLemwd BHiTHOH0H

1. LOHITEN LOSHTEQEIFLIT - 1884

1. OpeT @hHFHUl DoHDH6T FHISLD - 1919

iii. LNgmoenryeveon@HTT L& 6D - 1916

V. & ITeD AevdhdHl FRISLD - 1830

a.ii wi@Gw & b.iv G & c.ii wpmb iv g
d.ii wpg iii &l e. alenL  GaMuweaisvemev

56. How many great circles can a sphere have?

a. Two b. Three c. Ten
d. Infinitely many e. Answer not known

Q Bamenshaled sidHHemen LG UL L HIGH6T © 6iTermer.?
a. @yewi(® b. eweiml C. USHF
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d. erewremilevL mim e. alenL  GaMuwalsvemnev

57. In a certain code “MEDICINE” is coded as “EOJDJEFM”, then how is “COMPUTER”
written in the same code?
a. CMNQTUDR b. CNPRVUFQ c. RNVFTUDQ
d. RFUVQNPC e. Answer not known
o &Pl uis Gwmduiss ‘MEDICINE eeam amisas ‘EOJDJEFM’ e
orppls GPuiGs GFwiwiul Gererg sefed ‘COMPUTER’ a3 auniidenspdbater  @pluib
OBl TG0 BHTEwIH:
a. CMNQTUDR b. CNPRVUFQ c. RNVFTUDQ
d. RFUVQNPC e. alewL OgMwalsdensv

58. Cost of dress increases from Rs.2,100 to Rs. 2,520. Percentage increase in price is

a. 15 b. 18 c.20 d. 25 e. Answer not known
@ SmLuler allemev h. 2,100 Bbal 052,520 & HSMNHIT60, DHSMIY FHaTHLD
a.15 b. 18 c. 20 d. 25 e. alewL  OgMuwalsbensv

59.1f 16 % % of a number is 40 then the number is
a. 220 b. 240 c.420 d. 520 e. Answer not known
QM elewienied 16 % % eeviugl 40 elafled SbHG 6Tew WITG)?

a. 220 b. 240 c.420 d. 520 e. alenL  Gafuwealsvemev

60. In Tamil Nadu, ‘Social Justice Day” is observed on

a. 17t October b. 18t November c. 17th September
d. 18t August e. Answer not known

SOPSHH60 ‘Feps HFH BTeT DEIFASSILGL SHed

a. o1&8umur 17 b. membuir 18 c. Qg bui 17
d. syser0® 18 e. alenL  GaMuwealsvemev

61. Which of the following is the newly identified butterfly species in Dzongu of North
Sikkim during December 20217
a. Chocolate bordered Flutter Butterfly b. Common Lime Butterfly
c. Blue Pancy Butterfly d. Spot Swordtail Butterfly

e. Answer not known

AeoupmieT 61k e FEHHD wrHevsHevieien 19CFTRIG 6D @ HFHev 19FbUT 2021
OTHSHBHe0 SewiL S’ L Ll Lmbysd @b

a. gmasBeul. @ @mHema LILLTbLFS b. eedFemns oupd UL Lmb &S]

C. b6V eudyerT UL LMbyFS d. ssFHeaumed oI LI LMDy &S

e. allewL Ggflualsvenso
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62. Which one of the following was not correct about the most well known musician of

Akbar’s Court?

a. Tansen b. Sur Dass c. Ram Dass

d. Tarachand e. Answer not known

SIPHEWTLUBMIET SIGUTSHI 0SFABHS DenFUUTL ST UBBIW HeUBTET e6Tml 6157
a. FHTeo\Fes b. @&THTerd C. @Imbsmerd

d. smnabhs e. alenL OGxflwaleveney

63. The first architectural construction made by Qutb -ud-Din-Aibak was the

a. Qutb Minar b. Arhai-Din-Ka-Jhompra

¢. Quwwat-ul-Islam mosque d. Jamaat Khana Masjid

e. Answer not known

GHUDOT PUSHTEL (PHeVIeL 2 (HeUTSHSLILL L  HLIgL DTS SLGLD.
a. GaIderTT b.sitsmuI-9er-sr-Gegmibym

C. GoUTH 2 60 BerdeVMD LG d. ot @TenT Werbedld
e. alewL Gaflwalsvenev

64. In the production process, which cost cannot be retrieved?

a. Real cost b. Opportunity cost c. Sunk cost

d. Implicit cost e. Answer not known

2 BusHg Gy Burg ebhd OFeensu HlmbU OLUB (WiQuITSHI?

a. 2_awieno GFeve) b. i3 amuny G&evey C. pP&ID OF6vay
d. o etenihs OFevey e. alemL Gafwealsvemso

65. Find out which pair is not correct?
a. RBI - Banker’s Bank
b. FCI - Financial Assistance to Commercial Institutions
c. IDBI - Industrial Finance
d. EXIM Bank - Financing for Export and Import
e. Answer not known
abd Cmmy HHeupTendl o6l HewiBLIGSHS
a. RBI -amidsefler sumid)
b. FCI -auewilas Bopoamserdsd HF 2 sai
c. IDBI -Gampsd H
d. EXIM aukid) — g@upingd) @mé@ingd md o sl
e. alemL Gaflualsbenso

66. During the Sangam period the Agricultural area was called as

a. Kurinji b. Mullai c. Marudam

d. Neidal e. Answer not known

FMIS HTeVHH6L aleugmul Heomibenen o el L HleolilgLiy G160 DIGWIDHBLILIL L G|
a. &Pehd b. webenev C. L(HSBD

d. Gruised e. alewL Ggfweaisdenev
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67. Pallavan Kovil plates explains about
a. Svetambara Jaina order b. Digambara jaina order
c. Buddhist principles d. Geneology of the Pallavas
e. Answer not known
uevevauert Bsmaled HHBH6T eTen LI LBl Fnmisleipen?
a.&8sumlbugm  Floewt eufleng b. Aabugr Fwew eauflnd . UbH QBTeTenDBHEI
d.usbeven gaisefler Wy aflens e. alewl OHfwalsenew

68. district was the highest multi-dimensional poverty index, according to
TN Human Development Report ( 2013-14)
a. Kancheepuram b. Chennai c. Coimbatore

d. Dharmapuri e. Answer not known

SOPHTH wellgh Gubum’ B Spfidmae 2013-14 b SLeungeLy, L6IWES UMDTeT  aumplento
G&Mui® Tl L SHFHe0 (WHIIMD SiFs GBuih CuBp allenmhi@GaBal.

a. &MEhdLJLD b. Goeenen c. GamubL S

d. simoyf e. alewL Gxfwalsdenso

69. private sector industry received Tamil Nadu Government Award for

providing maximum job opportunities to differently abled persons during 2019.

a. Sakthi Masala Pvt Ltd, Erode b. Everest Stabilisers (p) Ltd,Chennai

c. SKM Animal - Feeds Ltd, Erode d. Vedanta Sterlite Industry, Thoothukudi
e. Answer not known

2019-60 oiFsoTRT 2 L 60 omaipBCBImy  LmibE SIDTHIHWMESG SUODBTE DTS
A& WN(HHEG OBTHHBLILLLFI.?

a. 568 WwaTeoT (&) Himleuentd, FEITH

b. eleu@rerdl”  er0GL LlemevanT (H) L. OFeiiene

C. 61610.8p.61D. Oevfioed - LI erd Himieuenid, FEImH

d. Gauamham O Temel GHTN60, HTHHIGBGIQ

e. allewL Ggflwalsvenso

70. A works 3 times as fast as B and is able to complete a task in 24 days less than the
days taken by B. Find the time in which they can complete the work together.
a. 36 days b.27 days c.18days  d.9days e. Answer not known
A semaum B g smigeud 3 wLmEG Geauswrd @ Geumevenwl QFulghl (gl
SUTTeL DS Lewllenwl B aiBHss Omemi Gpyhbag el 24 bIeIH6n @mBalTd

bS5 (PI9dhs (PIEmE. Bmeumd GCabg Oibd Geumevenws (P&Es UG CHISHmSHEH
HT60NTH.

a. 36 Bl &6l b. 27 pri w6t c. 18 i meit d. 9 B sl €. alew O fNwialsvanew

71. Perimeter of a triangular plot is 60 m. Find the area of the plot if the sides are in the
ratio5:12:13
a. 130 m? b. 120 m? c. 110 m? d.100 m? e. Answer not known
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Wp&HCxmemt  eugailevmen emeTuleT SF@Bmene] 60 5. LH  LISBRIS6N 5:12:13  et&dIB
B BHHH60 2 eienen elafled b LOeNETUIET LITLILIGTEN6US SHTERISb.

a. 130 2 b. 120 12 c. 110182 d.100 152 e. alenL O flwalevensy

72. A family went to a hotel and spent Rs. 350 for the food and paid 5% GST extra.
Calculate the CGST and SGST.
a. Rs. 87.5, Rs. 85.7 b. Rs. 8.75, Rs. 8.75 c. Rs. 85.7, Rs. 87.5

d. Rs. 7.85, Rs. 7.85 e. Answer not known

RH GBLUD 2 MINSHADBGF OFam 2 aueyddTsd @h.350 Feve] CFUIH FmBHOUTEHF
griHg wppw GFmeu eauflwnes 5% OFudhdemiTser eafled LSS OBBID WIH FIHE
Gremeu euflenuid HewTdd Hb.

a. . 87.5, aw. 85.7 b. em. 8.75, . 8.75 C. eb. 85.7, em. 87.5

d. ep. 7.85, ap. 7.85 e. alowL Gxfwaledenso

73. In an examination 35 % of the students passed and 455 failed. How many students
appeared for the Examination?
a. 490 b. 700 c. 845 d. 1300 e. Answer not known
b BxiTaled o e OTHs wrewauTsefled 35 % Gui BxTedd GuUBBeuTseT, Geubd 455
Guir BaiT&dl GCUBTHeuTH6T 6lelled CaiTey 6IRSHIUI LOTEwTEUTSHEG  6T6xI6001 56N D
a. 490 b. 700 c. 845 d. 1300 e. allenL Opflualsoensy

74. The name of the first super computer assembled indigenously under national super
computing mission.

a. Param Agni b. Param Shivay c. Param Vidwan

d. Param Swayam e. Answer not known

GUUT senlls (pewm ager Ly o 6MBTLRGBw swmfldasiiul L @GUuT sewnfleluler LT
oT6vT601?

a. uglb oéel b. uyb HGeu C. ugb efldHeumes

d. ugib erdeuwid e. alewL Oxflwalsveney

75. Which organization launched the school education quality index?
a. NGO Pratham b. NITI Aayog ¢. HRD ministry

d. None of the above e. Answer not known

ueierld Hevald HId GBUIL ML BWPSILGSHHW Diewoli] 6157

a. NGO dysib b. NITI &@uims C. walgh alem GUTL B DIDFFHLD
d. GuBampPlwemeal egiab Bevenev e. alewL OFfwealedenev

76. Which one of the statement is correct regarding the Indus Valley Civilization?
1. There was a strong centralized Government
2. Each lane had a lamp post at cutervels
3. Dust-bin were also provided in the streets
4. Quarters of rich and poor were found
a. 1.2 is correct 3,4 are incorrect b. 1,3 is correct 2,4 are incorrect
c.1,2,3 are correct 4 is incorrect  d. All are correct e. Answer not known
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Fbg Fwo6euel mErafasHmsed uBBwu Fm@Boiseiesd gflwmeaig eg?
. QUIAITET OGHHW DTS
. @6auleutm Oxmalab C&Hm alend@asel

1
2
3. OxmaHeisd Gleu OFHT Y DIMLHS(HHSHH.

4. UUISSTIT OBHID 6JenIHEHHHTE GQUIHLILSET ST LGS BSI.
a

C

12wl sl 3,4 seuprerg. b. 1,3 w G &f 2,4 seupreig.
1,23 w0 @ M 4ol G sauptais.  d.owmassid slureaig e, el Osfuaisvemen

77. Target of Rs.1,05,000 Crore of disinvestment receipts is set for the financial year

a. 2017-2018 b. 2018-2019 c. 2019-2020

d. 2020-2021 e. Answer not known

(PFHESL_(BEHBMEVLIL]  UTI RIS EHSHE) pFHwmennged en.  1,05,000 Gamg
®evd@ MHitentulsbasliuLl [BHeTengi.

a. 2017-2018 b. 2018-2019 c. 2019-2020

d. 2020-2021 e. alenL Oz flwailsvenev

78. The model adopted in the second five year plan was
a. Harod-Domar Model  b. Kaldor model c. Meade’s model
d. Mahalanobis model e. Answer not known
OTWILToUSH WHSHTEWI(H HL L HH60 o (heuTdsLlLLL TSI
a. amgr® — GLmwonT wrglfl b. smeoLmT T C. 0L omg
d. waseGpTied il e. el Gafwalsdenso

79. The Longest poem of Madurai - Kanchi more than 700 lines wrote by
a. Nakeerar b. Paranjothi c. llango Adigal

d. Mangudi Maruthanar e. Answer not known

700 eufldEmdh@ Ged CBTERIL LML 60T G HenTd SHTehd] 6T6B [BHITeneV 6I(LDILIGUT
a. beSYT b. uyehGxrd C. BemBIGHT D96l

d. wrRIglY WwESeT e. alenL O flwaleveney

80. The character of the courageous mother in the battle field in Sangam Literature is

praised
a. Poigaiyar b. Okkur Masathiyar c. Palai Gowthamanar
d. Panamparanar e. Answer not known
FhE BeudsdGHFHe0 CUTTSHeNHHMmens Hewil aifsHHTuler Blenevenuwt GuITmSwIeT
a. GumuiensuwiiT b. @&amiT wramsawir C. LMTen6eusd &6 HL0eNTIT
d. uvenbuyeTT e. alenL O flwalsbenev
81. is the Premier State in human organ donation
a. Uttar Pradesh b. Orisha c. Tamil Nadu
d. Kerala e. Answer not known
© 160 2 M| FHTTHH6D (LPSHETENLOWITET LOMH6VOTS EYHLILIGI 61517
a. 2 581 g8sab b. eflar c. sOPHTG
d. Gamyenm e. alemL O flwalsbeney
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82.

83.

84.

85.

86.

The initiatives of e-Governance of Tamil Nadu is
i. Enterprise wide architecture

Rules, Policies, standards

Training and HRD

Buffer stock operation

ii.
ii.
iv.
c. 1, 1ii and iii

a. i only b. ii only

d.ii and iv only e. Answer not known
Letteu(heussteuBmien SODBTEH 06T- SLEmHend (pHewoullet GFuweoun® S LD.
1. Bpleuend &iihs HLIgL HEHEN60

. alFH(enssel, CaTeTendsen, SHILILIGHHIHEODHEN
. uuWiBd BBID eigeten GbLTh

iv. o ufl @miys OsTeTems

b. ii oI B>

a. i w (B C. 1, ii opbd iii

d. ii wBmib iv oL Bb e. alewL O flwalsveney
The length, breadth and height of a cuboid are in the ratio 7 :5:2. Its volume is 35840
cm?3 then height is

a.8cm b.16 cm c.24 cm d. 32 cm e. Answer not known
QH HF OQFalausHIT HelD, DGeVD LBEID o WS alélshd 7:5:2 oBpid  sHeor
Slee] 35840 QF.18 ‘etafled 2 WIFHHET Slee.
a. 8 G&.18. b.16 G&.8.  c. 24 G5.15.

d.320s.8. e. alewL Gafwalsdenso

The volume of a solid right circular cone is 4928 cu. Cm. If its height is 24 cm, then

find the radius of the cone [7[ = %}

a.14 cm b.15 cm c.16 cm d.17 cm e. Answer not known
Qm FHawio CoiTeul’Ld gmiblier sl oene 4928 &.05.15. wLBHBID SIHeT o Wy 24 OF.6.

oTaNled HIBbInlbLI HYTHMHDH SIS l:]z’:%jl

a.140g.18. b.1505.8. c. 16060518 d.176g.6. e. alewL Gxpfwaledenso

Write 0.07% as a fraction
7 7 7

a. — b. —— — d —— e. Answer not known
10 10000 100 1000

0.07% 2 eitenors oTBBIG

a. i b. I . d. I e. alenL Gz fwaleveney
10 10000 100 1000

Acidity if any in the urethra after passage of urine is neutralized by the secretion of
a. Prostate Gland b. Perinaeal Gland c. Rectal Gland
d. Cowper’s Gland e. Answer not known
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fppt sWPHs et HABpiGmuied gnuBlL DiblevdH Haienoamul HBBHeOLILUGSHSHID &I -
60 FTHBLILGD MBS
a. YGymerd@LL &yrud b. Guileiwed &yl C. D6UHGHL 6D &L

d. Gaenmuirerd aylid e. alemL O flwalsbenev

87. The highest percentage of scheduled tribe population is found in the state/union

territory.

a. Lakshadweep b. Meghalaya c. Mizoram

d. Nagaland e. Answer not known

UL IQuIed LIPRIGIQUIRT 106H6T SIFE FHaiHHH0 STewiiILG wiHeud/welwer FGsaid
agl?

a. eVl FHB0|He6 b. Guasmeowir c. 10GFmyID

d. prsmeoThal e. alowL O fwealsdensv

88. The Durgabai Deshmuk Award for women Development is given to which of the
following organisations?
a. Women Development Organisation b. Voluntary organisations
c. Central Social Welfare Board d. State Social Welfare Board

e. Answer not known

Quemtder  Gubum igBarer  SiteTUTW  CoHadupd alpad UaeumD  6bhdH  DMLLIBGE
QUPRISLILGSBS).?

a. GueteeT BT B SIEMLOLIL] b. seneimiies SEmoriL]

C. HHW Fepd Hev eumfluib d. wmlev Fewps Hev eumfluibd

e. allewL Ggflwalsvenso

89. Which of the following is / are the advantage /s of goods and service tax?
i. Removing cascading tax effect
ii. Uniform taxation of goods and services
iii. Tax decisions are taken jointly by Centre and State
a.i and ii only b.iand iii only c.ii and iii only
d. i, ii and iii e. Answer not known
HDHHEWIL_QUBMIGT LIGWTLBIH6T oBBID Lewider euflullest mestenid/ HesTeniode 61/ uwimeneu?
1. 9Ibdb& aufl alemeneysmen HobEHH B!
ii. QuTHeTH6T BBID UelaEndhE @G rdfwimer eurf
1. wHHW wIHlevmIBHeT Benemihd ufl (PYaBMeT 1HSHBBIHI.
a.i wmmib i w1’ Ho b. i wBmib iii o Hio C. ii Bmidb iii 11" Hib
d. i, ii @b iii e. alemL O flwalsbenev

90. Name the following work that was not written by C.N.Annadurai
a. Ariyamayai b. Or iravu c. Sorka Vasal
d. Ananda Bodhini e. Answer not known
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SLDHEWILUBMIET F.6T60. DIGHIITHINTUITED 6TPSLILILTSH LedLLIenL! Fapl.
a. oyflw wremw b. @7 Brey C. QFMTeHs auTg60
d. spebs Gurded e. alenL Oxflwaleveney

91. The “Chakravardhini” paper was devoted mainly to the elevation of Indian Women

by

a. Bharathiyar b. E.V. Ramasamy c. C.N.Annadurai

d. M. Karunanidhi e. Answer not known

@AW Guediseer (WaHTCIIBBHHBETE ‘FohaIauTHen 6lem HrelgHD 60
SITlILeT &SI L S|,

a. umygluim b. w.Gauymogmd C. Sl.eletl. ©|6mT6TTHIGN]T

d. enb. smewiHH e. alewL Gxfwalsdenso

92. According to census 2011. Tamil Nadu's share in total population living in rural
areas in the country was
a. 6.5 percent b. 5.5 percent c. 4.5 percent
d. 3.5 percent e. Answer not known
HHL OFHTemd  HauidbOs®U  2011-61 Uy  ShHwureled, oops/Smoius  uGHuled
audflHGD WHHL0HTnHUND SLODBTLIQET LIBIEG wimgl?
a. 6.5 gzaisid b. 5.5 #zeaisd c. 4.5 saaisd
d. 3.5 sxaisid e. alewL Oz flwalebensv

93. Assertion [A]: Infant mortality has shown a significant decline in India
Reason[R]: An improvement of medical facilities and better care reduce the
deathrate.
a. [A] is True, but [R] is False
b. [Alis False, but [R]is True
c. Both [A] and [R] are true and [R] is the correct explanation of [A]
d. Both [A] and [R] are true, but [R] is not the correct explanation of [A]
e. Answer not known
s®H5sI[A]:  BbFHuneled Gbms @Bl alEHn LB GHMBHIIGTESI.
amenid[R]:  wmoHsen ausdsel DiHsNhse0, FBhs Saualiiy] spduimean BB
ABHHHMS GHMBHH B!
a. [A] sf, aemed [R] seums
b. [A] seuml. eyemev [R] &
c. [A] oppd [R] Byewibd o ewienw. [R] eiaiug [A] @ gilwmer alenésd Qu@Ld.
d. [A]ospd [R]QrewiG o eawienw. eyemmed  [R] eeug [A] && gfwmer  alendsid
SI606V.
e. allewL Ggflwalsvenso

94. There are two cones with equal volumes. What will be the ratio of their radius and
height?
a.1:1 b.1:2 c.2:1 d.1:3 e. Answer not known
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STUDY CENTRE

Bh nlbL|H6M6T ST DIENE|H6IT FIOWD 6Terl60 DeUBMIST SLID BXID WD SpdlwieuBlest
VL)
a.1:1 b.1:2 c.2:1 d.1:3 e. alenL O flwaleveney

95. The total surface area of a cone of radius 7 cm is 704 cm?, then slant height of cone is

a.20 cm b.25 cm c.28 cm d. 30 cm e. Answer not known
7 QF.18. SuIpeTen @ dmiblle Gomdhg ugliLene] 704 GF.18.° eefled Fmujuirid
a.20 0g.18.  b.25@g.8. c.2805.18. d.300g.8. e. alewr Gzpflwalsdenso

96. Barr body is
a. Activated ‘X’ chromosome b. Inactivated golgi complex
c. Inactivated ‘X’ chromosome d. Inactivated dictyosome
e. Answer not known
umT o mIC] 66T
a. Qwed Memeouled o eiten ‘X' &GymGnGamb
b. QwedLLrg B&mevend dnl B OUITH6IT
c. GgweouLts ‘X' @CymGuwrGamb
d. QwedbLLTs 19HIBUITGFTID
e. alemL Ggfwalsdenev

97. How do you call the organisms inhabit the bottom of the aquatic bodies?

a. Nektonic b. Planktonic c. Benthic

d. Thermic e. Answer not known

BT Henevdbarienr LT DigsHd L Laefed eurapd o ulflemisenen eeleuTm SemLpLILITUL?
a. OpsBLTeNs b. WenmRIGL Texs c. Queihdd

d. Osmis e. alew O flwalevenev

98. The four segment of the golden quadrilateral join the following cities:
1. Delhi - Mumbai
2. Mumbai - Chennai
3. Chennai - Kolkata
4. Kolkata - Delhi
Consider the length of the above segments in descending order and select the correct
answer using the code given below:
a.3, 4,1, 2 b.3, 4,2, 1 c.4,3 21
d4, 3,1, 2 e. Answer not known
FhE HIBST FTenevdeller Hrerd LifleyseT SHDEemL HBImIBM6T EenenrhiH B
a. QLeved — (pibemL b. wiemu — OFeenet
c. Goagiomer — GaTvassT d. OBTeIEHHHT — 6L
BB o sitenm Lfleysefler Hendhensd EBHIG aflemgulled &mHGHHe0 Oamewiy SCD
Garpdaliul(Beten GUluilenL LweUhsHs Filwmer udHemev CHTHOSHBHBALD:
a.3, 4,1, 2 b.3, 4,2, 1 c.4,3 21
d.4, 3,1, 2 e. alenL Oz flwaledeney
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99. Match the List I with List II and select the correct answer using the codes given

below:
List I List II
State Size of population (persons) as per 2011 census
A. Maharashtra 1.104,099,452
B. Bihar 2.84,580,777
C. West Bengal 3.112,374,333
D. Andhra Pradesh 4.91,276,115
A B C D
a. 3 4 1 2
b. 3 1 4 2
C. 3 2 1 4
d. 1 3 4 2

e. Answer not known
ulwed I wpmpid I & Qummss &6 Car@hésslul (Beren giwmer el omw CxiTey

Cgu1s:
ulguied I U iguied 11
LOMBl60LD 2011 &b SLewiB WHH6T CFHTeNd HeThOBHBLILNGT Lig
&S OFHTnBUIETE] ([BLITSHEI)
A. &Iyl JT 1) 104,099,452
B. Usnir 2) 84,580,777
C. GuBg euBIsT6NLD 3) 112,374,333
D. supdly UpGsabd 4) 91,276,115
A B C D
a. 3 4 1 2
b. 3 1 4 2
C. 3 2 1 4
d 1 3 4 2
e. alewL Gz flwailsdenev

100 Match the following:

A. Central Bureau of Investigation 1. 1968
B. Central Vigilance commission 2. 1964
C. First Lokpal Bill introduced in

Lok sabha 3. 1963

D. All India Service (Conduct) Rule 4.1954
A B C D

a. 1 2 3 4
b. 2 1 4 3
c 3 2 1 4
d 1 3 2 4

e. Answer not known
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Slpa(HeuaTaUBens  CILIT(HHSHIH
A. A Levermuials ey
B. vgsHw sewiamaniliiy yenemruid

1.1968
2.1964

C. pge0 BGoorsdumed auemyey Geurdasumaled opiipsd 3. 1963

D. 9idlev @hsHw Bgeweu (HLHmDH) il
A B C D

a 1 2 3 4
b. 2 1 4 3
C. 3 2 1 4
d. 1 3 2 4
e. alewL Gz flwalsdenev

4.1954
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